1.

tan A = 2 I, sin? A—cos? A &] = Fotof=t. (T, 0° < A <90°)

D R
=%



12
2.  tanA = = A off, 13sin A —26cos A ] F27 (HF,0° <A <90°)

@ 2 @ 3 ® 4 @ 5 ® 6



T2 1™ 9] nABCD oA /B = A
90°, AB = 6cm, BC = 3v5cm,
BD = 8vV3cm ¥ o}, cABCD 9]
Y o] & +otoiet.,

Be e’



AHZb9 ABCD 9] Wol

& R
>

D 75v2 @ 802

® 82V2 @ 862 A \

C
B 882






6.

9v3
cm

D ==

@)




7. o2 293 o] ¥ O o sk SHAEIE ABCD o4 AD =
18cm , BC = 32cm € w, ¥ O 9] ¥tz E9] Ao]=?

A /180m\\D

@ 12cm @ 13cm ® l4cm @ 15cm ® 18cm



8. o2 1"F o] Wix]E2] Zo]7t 6em ¢! Y O o A5 H= A2
ABCD 2] Yo]&=?

@ 60cm? @ 64cm? @ T72cm?



o5 J1 3} Zro] YA ABCD
°] &= ¥ BC,CD 9 8 747
M,N o]2} stal AM, AN ¥} oz}
4 BD ¢t W& EF 2 5hAk
AE =8, AF = 11, /EAF = 30°
o o, gEMNF 9] Ho]& 5t
2},

D L
=¥




10. oS 138Le g /o] g5el npEr g o] 2
o]7 ¥WroFolct, mp2 o] gk H o] Zo]r} 2 2
o uf, o] yolo] A ALY E; Ez ~
@D 16v2 @ 128 3 1282
@ 512

® 51242



